167 MV2

Devoir n° 4 : Fonction dérivées (20 min)

15 novembre 2019

Calculer les dérivées des fonctions suivantes :
fi(z) = 723 — 322 + 32 -3

fo(x) = Va2 — bz +T;

fale) = (3¢ —2)VAT F 7

filw) = 5

f5(z) = (22 — 3)(72% + )
fole) = g

16 MV2

fr(z) = (32% + 1)
o) = (307 + 4
Tz —5)°

3r—4

2 —x

fro(z) =

Devoir n° 4 : Fonction dérivées (20 min)

15 novembre 2019

Calculer les dérivées des fonctions suivantes :
fi(z) = 723 — 322 + 32— 3

fo(x) = Va2 =5z +7 ;

fala) = (32 —2)VAz 17

filr) = o

f5(z) = (22 — 3)(72% + )
fole) = g

16 MV2

fr(z) = (32% +1)3;

() = (302 4 4)°
Tr — 3

wo) = (553) -
z—4

fole) = 2=

Devoir n° 4 : Fonction dérivées (20 min)

15 novembre 2019

Calculer les dérivées des fonctions suivantes :
fi(z) = 723 — 322 + 32 -3

fo(x) = Va2 =Bz +T;

f3(x) = Bz —2)VAx + 7

falr) = 2=t
fs(x) = (22 — 3)(73:2 + )
fol@) =

(22 4+9)4 ;

fr(z) = (32> +1)%

fol) = %(3:52 +4)3




